
DATE

1 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

A1

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

3d views

pac_aft_axial-flow-turbine.iam

 

1/24

OHO e.V.

Note: All units in mm.

2483

2
6
5
5

7

0

0



DATE

2 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

A1

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

3d views

pac_aft_axial-flow-turbine.iam

 

1/24

OHO e.V.

Note: All units in mm.

1
5
8
2

9
3
7

1
0
5
9

1386

2655



DATE

3 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

A2

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Exploded 3d view pac_aft_axial-flow-turbine.ipn

 

1/29

OHO e.V.

 

10.0
7.0

12.0

4.0

9.0

13.0

11.0
2.0

1.0

5.0

15.0

3.0

11.0

6.0

8.0

11.0

11.0

14.0



DATE

4 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

B1

Parts list  

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Parts list

pac_aft_axial-flow-turbine.csv

 

 OHO e.V.

 

Parts list

POS

QTY

PART NAME FILE NAME PART TYPE SPECIFICATIONS SHEET

A1 1 3d views

pac_aft_axial-flow-turbine.iam

   1

A1 1 3d views

pac_aft_axial-flow-turbine.iam

   2

A2 1

Exploded 3d view pac_aft_axial-flow-turbine.ipn

   3

B1 1 Parts list

pac_aft_axial-flow-turbine.csv

   4

B2 1 Parts list

pac_aft_axial-flow-turbine.csv

   5

B3 1 Parts list

pac_aft_axial-flow-turbine.csv

   6

B4 1 Parts list

pac_aft_axial-flow-turbine.csv

7

C1 1 Technical notes     8

1.0 1

Alignment of vanes assembly Alignment of vanes assembly.iam

  9-10

1.1 1

Alignment of vanes Alignment of vanes.ipt

Production DIN C45  11

1.2 1

Alignment of vanes 1 Alignment of vanes 1.ipt

Production DIN C45 12

1.3 1

Alignment of vanes 2 Alignment of vanes 2.ipt

Production DIN C45 13

1.4 1 Inlet cone

Inlet cone.ipt

Production DIN C45 14

1.5 1

Ring Ring.ipt

Production DIN C45 15

1.6 24 Vane

Vane.ipt

Production DIN C45 16

1.7 16

Alignment of vanes bolt M14

 Standard DIN 933 M14x28x1.5

1.8 16

Alignment of vanes washer

 Standard DIN 125-1 A A 15

2.0 1

Propeller assembly Propeller assembly.iam

17-18

2.1 1

Propeller Propeller.ipt 

Production DIN C45 19

2.2 1 Cone

Cone.ipt

Production DIN C45 20

2.3 3

Hexagon Socket Set Screw

 Standard

Hexagonal 6.35"x22.225"

3.0 1

Propeller cover assembly Propeller cover assembly.iam

21-22

3.1 1

Propeller cover Propeller cover.ipt

Production DIN C45 23

3.2 1

Propeller cover top Propeller cover top.ipt

Production DIN C45 24

3.3 6 Fixed vane

Fixed vane.ipt

Production DIN C45 25

3.4 1

Flange cover Flange cover.ipt

Production DIN C45 26

3.5 12 Cover bolt M18  Standard DIN 933 M18X35x1.5

3.6 12 Cover nut M18  Standard DIN 555 M18

3.7 24 Cover washer  Standard DIN 433-1 A 19

4.0 1

Drive pulley assembly Drive pulley assembly.iam

27-28

4.1 1

Drive pulley Drive pulley.ipt 

Production DIN C45 29



DATE

5 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

B2

Parts list  

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Parts list

pac_aft_axial-flow-turbine.csv

 

 OHO e.V.

 

Parts list

POS

QTY

PART NAME FILE NAME PART TYPE SPECIFICATIONS SHEET

4.2 1

Drive pulley 1 Drive pulley 1.ipt

Production DIN C45 30

4.3 1

Adjusting cone Adjusting cone.ipt

Production DIN C45 31

4.4 3 V-Belt transmision  

Buy
ANSI/RMA IP-22 5VX500

4.5 3

Drive pulley bolt M14

 Standard DIN 933 M14x45x15

5.0 1 Shaft

Shaft.ipt

Production 0D 60 DIN C45 32

6.0 1

Bearings bottom Bearings bottom.iam

33-34

6.1 1

Bearings Bearings.ipt

Production DIN C45 35

6.2 1

Bearing 1 Bearing 1.ipt

Production DIN C45 36

6.3 1

Bearing 60

 

Buy

SKF 22313

6.4 8

Bearing bolt M8

 Standard DIN 933 M8x25x1.5

6.5 4

Bearing stud M14

 Standard UNI 5910 M14x35x1.5

6.6 4

Bearing nut M14

 Standard DIN 555 M14

6.7 4

Bearing washer

 Standard DIN 433-1 A 15

7.0 1

Bearing top assembly Bearing top assembly.iam

37-38

7.1 1

Bearings Bearings.ipt

Production DIN C45 39

7.2 1

Bearings 2 Bearings 2.ipt

Production DIN C45 40

7.3 1

Bearing 60

 

Buy

SKF 22313

7.4 8

Bearing bolt M8

 Standard DIN 933 M8x25x1.5

7.5 4

Bearing bolt M14

 Standard DIN 933 M14x50x1.5

7.6 4

Bearing nut M14

 Standard DIN 555 M14

7.7 8

Bearing washer

 Standard DIN 433-1 A 15

8.0 1

Seal housing assembly Seal housing assembly.iam

41-42

8.1 1

Seal housing Seal housing.ipt

Production DIN C45 43

8.2 1

Seal housing out Seal housing out.ipt

Production DIN C45 44

8.3 1

Seal housing support 155 Seal housing support 155.ipt

Production DIN C45 45

8.4 1

Seal housing support 450 Seal housing support 450.ipt

Production DIN C45 46

8.5 4

Seal housing bolt M10x25

 Standard DIN 933 M10x28x1.5

8.6 4

Seal housing bolt M10x40

 Standard DIN 933 M10x40x1.5

8.7 12

Seal housing stud M14

 Standard UNI 5910 Mx14x35x1.5

8.8 12

Seal housing nut M14

 Standard DIN 934 M14x1.5

8.9 12

Seal housing washer

 Standard DIN 125-1 A A 15



DATE

6 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

B3

Parts list  

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Parts list

pac_aft_axial-flow-turbine.csv

 

 OHO e.V.

 

Parts list

POS

QTY

PART NAME FILE NAME PART TYPE SPECIFICATIONS SHEET

9.0 1

Bearing support assembly Bearing support assembly.iam

47-48

9.1 1

Bearing support Bearing support.ipt

Production DIN C45 49

9.2 1

Bearing support 1 Bearing support 1.ipt

Production DIN C45 50

9.3 1

Bearing support 2 Bearing support 2.ipt

Production DIN C45 51

9.4 4

Bearing support stud

 Standard UNI 5910 Mx14x30x1.5

9.5 4

Bearing support nut

 Standard DIN 555 M14

9.6 4

Bearing support washer

 Standard DIN 125-1 A A 15

10.0 1

 Generator base assembly  Generator base assembly.iam

52-53

10.1 1 Generator base

Generator base.ipt

Production Thk 13 ASTM A36 54

10.2 2 Generator base 747

Generator base 747.ipt

Production 160x6x7 ASTM A36 55

10.3 2 Generator base 720

Generator base 720.ipt

Production 160x6x7 ASTM A36 56

10.4 1 Generator base 700

Generator base 700.ipt

Production 160x6x7 ASTM A36 57

11.0 1

Frame assembly Frame assembly.iam

58-59

11.1 1 Frame 150

Frame 150.ipt

Production Thk 6 ASTM A36 60

11.2 1  Frame 200

 Frame 200.ipt

Production Thk 6 ASTM A36 61

11.3 1  Frame 340

 Frame 340.ipt

Production Thk 6 ASTM A36 62

11.4 1 Cantilever

Cantilever.ipt

Production Thk 6 ASTM A36 63

11.5 1 Cantilever base

Cantilever base.ipt

Production Thk 6 ASTM A36 64

11.6 6 Generator base bolt  Standard DIN 933 M20x35  

11.7 6 Generator base nut  Standard DIN 555 M20

11.8 12 Generator base washer  Standard DIN 433 A 21

12.0 1

Spiral casing Spiral casing.iam

Production 65-66

12.1 1

Segment 1-1 Segment 1-1.ipt

Production Thk 3.175 ASTM A569 67

12.2 1

Segment 1-2 Segment 1-2.ipt

Production Thk 3.175 ASTM A569 68

12.3 1

Segment 2-3 Segment 2-3.ipt

Production Thk 3.175 ASTM A569 69

12.4 1

Segment 3-4 Segment 3-4.ipt

Production Thk 3.175 ASTM A569 70

12.5 1

Segment 4-5 Segment 4-5.ipt

Production Thk 3.175 ASTM A569 71

12.6 1

Segment 5-6 Segment 5-6.ipt

Production Thk 3.175 ASTM A569 72

12.7 1

Segment 6-7 Segment 6-7.ipt

Production Thk 3.175 ASTM A569 73

12.8 1

Segment 7-8 Segment 7-8.ipt

Production Thk 3.175 ASTM A569 74

12.9 1

Segment 8-9 Segment 8-9.ipt

Production Thk 3.175 ASTM A569 75



DATE

7 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

 

Parts list  

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Parts list

pac_aft_axial-flow-turbine.csv

 

 OHO e.V.

 

Parts list

POS

QTY

PART NAME FILE NAME PART TYPE SPECIFICATIONS SHEET

12.10 1

Segment 9-10 Segment 9-10.ipt

Production Thk 3.175 ASTM A569 76

12.11 1

Segment 10-11 Segment 10-11.ipt

Production Thk 3.175 ASTM A569 77

12.12 1

Segment 11-12 Segment 11-12.ipt

Production Thk 3.175 ASTM A569 78

12.13 1

Segment 12-13 Segment 12-13.ipt

Production Thk 3.175 ASTM A569 79

12.14 1

Segment 13-14 Segment 13-14.ipt

Production Thk 3.175 ASTM A569 80

12.15 1

Segment 14-15 Segment 14-15.ipt

Production Thk 3.175 ASTM A569 81

12.16 1

Segment 15-16 Segment 15-16.ipt

Production Thk 3.175 ASTM A569 82

12.17 1

Segment 16-17 Segment 16-17.ipt

Production Thk 3.175 ASTM A569 83

12.18 1

Segment 17-18 Segment 17-18.ipt

Production Thk 3.175 ASTM A569 84

12.19 1

Segment 18-19 Segment 18-19.ipt

Production Thk 3.175 ASTM A569 85

12.20 1

Segment 19-20 Segment 19-20.ipt

Production Thk 3.175 ASTM A569 86

12.21 1

Segment 20-21 Segment 20-21.ipt

Production Thk 3.175 ASTM A569 87

12.22 1

Segment 21-22 Segment 21-22.ipt

Production Thk 3.175 ASTM A569 88

12.23 1

Segment 22-23 Segment 22-23.ipt

Production Thk 3.175 ASTM A569 89

13.0  Diffuser tube Diffuser tube.iam Production  90-91

13.1 1

Segment diffuser 0-0 Segment diffuser 0-0.ipt

Production Thk 3.175 ASTM A569 92

13.2 1

Segment diffuser 0-1 Segment diffuser 0-1.ipt

Production Thk 3.175 ASTM A569 93

13.3 1

Segment diffuser 1-2 Segment diffuser 1-2.ipt

Production Thk 3.175 ASTM A569 94

13.4 1

Segment diffuser 2-3 Segment diffuser 2-3.ipt

Production Thk 3.175 ASTM A569 95

13.5 1

Segment diffuser 3-4 Segment diffuser 3-4.ipt

Production Thk 3.175 ASTM A569 96

13.6 1

Segment diffuser 4-5 Segment diffuser 4-5.ipt

Production Thk 3.175 ASTM A569 97

13.7 1

Segment diffuser 5-6 Segment diffuser 5-6.ipt

Production Thk 3.175 ASTM A569 98

13.8 1

Segment diffuser 6-7 Segment diffuser 6-7.ipt

Production Thk 3.175 ASTM A569 99

13.9 1

Segment diffuser 7-8 Segment diffuser 7-8.ipt

Production Thk 3.175 ASTM A569 100

13.10 1

Segment diffuser 8-9 Segment diffuser 8-9.ipt

Production Thk 3.175 ASTM A569 101

14.0 1 Manometer  

Buy Manometer type Bourdon

15.0 1

Dynamo

 

Buy Dynamo Matari 25kW



DATE

8 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

C1

Technical 

notes  

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Technical notes  

 

 OHO e.V.

 

TECHNICL NOTES

NOTES CONTENT

GENERAL NOTES

Metal structure treatment

Iron structures should be painted to prevent rust and improve equipment life. 

- Remove loose rust with a wire brush, sandpaper or chemical rust remover.   

- If applicable, sand areas where paint is chipping until surface is smooth.  

- Remove dust or oil with a degreaser or denatured alcohol.   

- Prime surface to protect against rust and corrosion

Foundations fixing

- The ground must be stable and have a low water table. 

- The structure must be fixed on firm oncrete soil or on poured footings with steel reinforcement. 

- The anchorage can be bolted with expansive ramplugs or welded.

Fabrication special parts

- The parts named as: 1.6, 2.1, 2.2, 3.3,  will be CNC machined. 

- For large pieces such as 1.4, 3.1, the casting process could be used, considering that high quality surface finishes will not be 

obtained, which would lead to power losses due to friction.



CH-CH ( 1 : 8 )

CH CH

DATE

9 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

1.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Alignment of vanes assembly Alignment of vanes assembly.iam

 

1/8

OHO e.V.

Note: All units in mm.

640

608

2
6
0

519



DATE

10 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

1.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Alignment of vanes assembly Alignment of vanes assembly.ipn

 

1/7

OHO e.V.

 

1.3

1.6

1.5
1.2

1.1

1.4

1.8

1.7



B-B ( 1 : 5 )

B

B
DATE

11 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

1.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Alignment of vanes Alignment of vanes.ipt

DIN C45

1/5

OHO e.V.

Note: All units in mm.

13

608 500

M14x1.5 - 6H16x

578



C-C ( 1 : 6 )

C

C

DATE

12 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

1.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Alignment of vanes 1 Alignment of vanes 1.ipt

DIN C45

1/6

OHO e.V.

Note: All units in mm.

12

548 400400

M14x1.5 - 6H12x



D-D ( 1 : 4 )

D

D
DATE

13 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

1.3

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Alignment of vanes 2 Alignment of vanes 2.ipt

DIN C45

1/4

OHO e.V.

Note: All units in mm.

3

500

460



CJ-CJ ( 1 : 4 )

CJ CJ

DATE

14 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

1.4

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Inlet cone

Inlet cone.ipt

DIN C45

1/4

OHO e.V.

Note: All units in mm.

R

1

2

7

450 424 350

M14x1.5 - 6H12x

2
5
7

2
0

12

122

1
0

65



DM-DM ( 1 : 6 )
DM DM

DATE

15 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

1.5

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Ring Ring.ipt

DIN C45

1/6

OHO e.V.

Note: All units in mm.

1
2

640

548

578

M14x1.5 - 6H16x



EB ( 1 : 1 )

EB

DATE

16 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

1.6

Part 24

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Vane

Vane.ipt

DIN C45

1/2

OHO e.V.

Note: All units in mm.

479

4

5

1

5

1
6
8

R

5

R

6

3

34

36 28

R
1
6
0

3

4

3

8

12



CK-CK ( 1 : 5 )

CK

CK

DATE

17 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

2.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Propeller assembly Propeller assembly.iam

 

1/5

OHO e.V.

Note: All units in mm.

2
1
6

397



DATE

18 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

2.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Propeller assembly Propeller assembly.ipn

 

1/3

OHO e.V.

 

2.3

2.2

2.1



DW-DW ( 1 : 3 )

DW

DW

DATE

19 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

2.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Propeller Propeller.ipt

DIN C45

1/5

OHO e.V.

Note: All units in mm.

120

R

8

0

60

146

12

1/4 - 18 NPT3x

8
2

1
4

397



CL-CL ( 1 : 2 )

CL CL

DATE

20 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

2.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Cone

Cone.ipt

DIN C45

1/2

OHO e.V.

Note: All units in mm.

1
4
8

R

2

6

1
4

12

120 144

3x  1/4 NPT

R

1

8

6

1

0



CN-CN ( 1 : 8 )

CP ( 1 : 3 )

CN CN

CP

DATE

21 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

3.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Propeller cover assembly Propeller cover assembly.iam

 

1/8

OHO e.V.

Note: All units in mm.

3

0

2

8

0

3

2

0

3
6
0

608

388



DATE

22 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

3.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Propeller cover assembly Propeller cover assembly.ipn

 

1/8

OHO e.V.

 

3.3

3.2
3.1

3.5
3.7

3.6

3.4



CT-CT ( 1 : 4.5 )
CT CT

DATE

23 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

3.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Propeller cover Propeller cover.ipt

DIN C45

1/4.5

OHO e.V.

Note: All units in mm.

R

2

8

448

400

R

2

0

0

1
0
0

12

R
1
4
2

2
2



J-J ( 1 : 6 )

J

J

DATE

24 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

3.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Propeller cover top Propeller cover top.ipt

DIN C45

1/6

OHO e.V.

Note: All units in mm.

12

608 448



VIEW217 ( 1 : 1 )

DATE

25 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

3.3

Part 6

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Fixed vane

Fixed vane.ipt

DIN C45

1/2

OHO e.V.

Note: All units in mm.

6

0

1
6
8

1
4

1
6

1
7

1
7

1
5

1
3

1
1

8

510

4441



K-K ( 1 : 6 )

K

K

DATE

26 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

3.4

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Flange cover Segment inlet 0-0.ipt

DIN C45

1/6

OHO e.V.

Note: All units in mm.

6

596 540 392

12x 18 -6 DEEP



DP-DP ( 1 : 4 )

DP

DP

DATE

27 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

4.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Drive pulley assembly Drive pulley assembly.iam

 

1/12

OHO e.V.

Note: All units in mm.

1233

6

1
0
0

406



DATE

28 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

4.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Drive pulley assembly Drive pulley assembly.ipn

 

1/6

OHO e.V.

 

4.5

4.3

4.1

4.2

4.4



L-L ( 1 : 4 )
M ( 1 : 1 )

L

L

M

DATE

29 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

4.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Drive Pulley Drive Pulley.ipt

DIN C45

1/4

OHO e.V.

Note: All units in mm.

40

60

1
5

5

9

9

8

8

1
1
5

8
8

15

9
6

R

1

0

R

1

5

48

20
20



EC-EC ( 1 : 2 )

ED ( 1 : 1 )

EE ( 2/1 ) EC

EC

ED

EE

DATE

30 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

4.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Drive Pulley 1 Drive Pulley 1.ipt

DIN C45

1/2

OHO e.V.

Note: All units in mm.

14

6

38

5

5

2

1
5

150

R

2

4



CR-CR ( 1 : 2 )

DR ( 1 : 1 )

CR CR

DR

DATE

31 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

4.3

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Adjusting cone Adjusting cone.ipt

DIN C45

1/2

OHO e.V.

Note: All units in mm.

8

8

96

59

1
8

6

136

x3 14 

1
9

89

1

2

0

9
4

54



V-V ( 1/2 ) DF-DF ( 1/2 )

DT ( 1 : 0.8 ) DU ( 1 : 0.8 )

V

V

DF

DF

DT

DU

DATE

32 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

5.0

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Shaft

Shaft.ipt

DIN C45

1/2

OHO e.V.

Note: All units in mm.

6

1
8

R

3

0

R

3

0

2 X 45  Chamfer

854

138 100 90



AF-AF ( 1 : 3 )

AF

AF

DATE

33 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

6.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearing bottom Bearing bottom.iam

 

1/3

OHO e.V.

Note: All units in mm.

9
9

240

240

65



DATE

34 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

6.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearing bottom Bearing bottom.ipn

 

1/2.5

OHO e.V.

 

6.1

6.5

6.7

6.6

6.3

6.2
6.4



CU-CU ( 1 : 2.5 )

CU CU

DATE

35 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

6.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearings Bearings.ipt

DIN C45

1/2.5

OHO e.V.

Note: All units in mm.

R

4

4x 15 

M8x1.25 - 6H8x

7
3

2
5

140

240 214 159

178

65

1
9



CV-CV ( 1 : 2 ) CV CV

DATE

36 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

6.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearings 1 Bearings 1.ipt

DIN C45

1/2.5

OHO e.V.

Note: All units in mm.

2
6

8

178
159

141
65

8x 8 

R

4

6

7



AE-AE ( 1 : 3 )

AE

AE

DATE

37 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

7.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearing top Bearing top.iam

 

1/3

OHO e.V.

Note: All units in mm.

1
2
2

240



DATE

38 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

7.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearing top assembly Bearing top assembly.ipn

 

1/3

OHO e.V.

 

7.6

7.1

7.5

7.3

7.2

7.4

7.7



CW-CW ( 1 : 2.5 )

CW CW

DATE

39 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

7.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearings Bearings.ipt

DIN C45

1/2.5

OHO e.V.

Note: All units in mm.

1
9

2
5

R

4

65

7
3

19

R

4

240

214
178

120

140

4x 15 

M8x1.25 - 6H8x



CY-CY ( 1 : 2 )

CY CY

DATE

40 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

7.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearings 2 Bearings 2.ipt

DIN C45

1/2

OHO e.V.

Note: All units in mm.

8x 8 

7

8
6

4
9

120

178

141 159

128



DA-DA ( 1 : 5 )
DA DA

DATE

41 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

8.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Seal housing assembly Seal housing assembly.iam

 

1/5

OHO e.V.

Note: All units in mm.

9
2

89

450

3
3



DATE

42 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

8.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Seal housing assembly Seal housing assembly.ipn

 

1/4

OHO e.V.

 

8.3

8.4

8

6
7

8.2

8.1
9

5



DB-DB ( 1 : 1.5 )

DB DB

DATE

43 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

8.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Seal housing Seal housing.ipt

DIN C45

1/1.5

OHO e.V.

Note: All units in mm.

3
0

1
0

5

5

115 95

61

70

M10x1.5 - 6H4x



DC-DC ( 1 : 1.5 )

DC DC

DATE

44 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

8.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Seal housing out Seal housing out.ipt

DIN C45

1/1.5

OHO e.V.

Note: All units in mm.

1
0

2
5

3
5

62 23

5

155 130

95

79

M10x1.5 - 6H4x
M10x1.5 - 6H4x

115



DD-DD ( 1 : 2 ) DD DD

DATE

45 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

8.3

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Seal housing support 155 Seal housing support 155.ipt

DIN C45

1/2

OHO e.V.

Note: All units in mm.

1
3

1
0

155

130

110

M10x1.5 - 6H4x



AK-AK ( 1 : 4 )

AL ( 1 : 1 )

AM ( 1 : 1 )

AK

AK

AL

AM

DATE

46 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

8.4

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Seal housing support 450 Seal housing support 450.ipt

DIN C45

1/4

OHO e.V.

Note: All units in mm.

9 7

16

450 424 310 270 158

130

12x 14 

M10x1.5 - 6H4x

M12x1.5 - 6H4x

3

19



AP-AP ( 1 : 4.5 )

AP

AP

DATE

47 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

9.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

 Bearing support assembly  Bearing support assembly.iam

 

1/4.5

OHO e.V.

Note: All units in mm.

1
3
3

340



DATE

48 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

9.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearing support Assembly Bearing support Assembly.ipn

 

1/3

OHO e.V.

Note: All units in mm.

9.1

9.5 9.6

9.4

9.2

9.3



DE-DE ( 1 : 2.5 ) DE DE

DATE

49 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

9.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearing support Bearing support.ipt

DIN C45

1/2.5

OHO e.V.

Note: All units in mm.

1
2

240 214

139

M14x1.5 - 6H4x



AT-AT ( 1 : 4 )

AT

AT

DATE

50 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

9.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearing support 1 Bearing support 1.ipt

DIN C45

1/4

OHO e.V.

Note: All units in mm.

1
1
8

1

0

7

R

1

0

R10

121

164

7
1

1
0
7

9

8

1
1

R

1

3

5

240



AU-AU ( 1 : 3 )

AU

AU

DATE

51 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

9.3

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Bearing support 2 Bearing support 2.ipt

DIN C45

1/3

OHO e.V.

Note: All units in mm.

15

340 310 270

4x 14 



AV ( 1 : 7 ) AW ( 1 : 7 )

AV
AW

DATE

52 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

10.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Generator base assembly Generator base assembly.iam

 

1/7

OHO e.V.

Note: All units in mm.

790

9
2
0

7
0
0



DATE

53 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

10.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Generator base assembly Generator base assembly.ipn

 

1/12

OHO e.V.

Note: All units in mm.

10.1

10.4

10.3

10.2



BC-BC ( 1 : 6 )

BC

BC

DATE

54 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

10.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Generator base

Generator base.ipt

ASTM A36

1/6

OHO e.V.

Note: All units in mm.

13 700

1
6
0

R

1

0

20

3
5

40

100

2
2
3

350



AY-AY ( 1 : 2 )

AY

AY

DATE

55 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

10.2

Part 2

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Generator base 747

Generator base 747.ipt

ASTM A36

1/2

OHO e.V.

Note: All units in mm.

747

1
6
0

1
0

6



BA-BA ( 1 : 2 )

BA

BA

DATE

56 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

10.3

Part 2

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Generator base 720

Generator base 720.ipt

ASTM A36

1/2

OHO e.V.

Note: All units in mm.

1
6
0

6

1
0

720



BB-BB ( 1 : 2 )

BB

BB

DATE

57 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

10.4

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Generator base 700

Generator base 700.ipt

ASTM A36

1/2

OHO e.V.

Note: All units in mm.

700

1
6
0

1
0

6



DG ( 1 : 10 )

DJ ( 1 : 10 )

DK ( 1 : 10 )

DG

DJ

DK

DATE

58 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

11.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Frame assembly Frame assembly

 

1/20

OHO e.V.

Note: All units in mm.

674 714

6

1

1

7

3

6



DATE

59 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

11.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Frame assembly Frame assembly.ipn

 

1/14

OHO e.V.

 

11.211.1

11.3

11.7
11.4

11.811.6

11.5



BL ( 1 : 2 )

BL

DATE

60 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

11.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Frame 150

Frame 150.ipt

ASTM A36

1/4

OHO e.V.

Note: All units in mm.

R

2

5

0

2
1
1

1
4
1

R

2

5

2

1
3

5050

66

1
5
0



BM ( 1 : 2.5 )

BM

DATE

61 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

11.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

BASE GRANDE PROBAR

Frame 200.ipt

ASTM A36

1/4

OHO e.V.

Note: All units in mm.

R

3

0

0

R

2

9

9

1
3

50 50

6 6

2
0
0

9
0

1
8
1

200



BN ( 1 : 4 )

BN

DATE

62 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

11.3

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Frame 340

Frame 340.ipt

ASTM A36

1/10

OHO e.V.

Note: All units in mm.

3
5
0

350

200

2
0
0

9
2
1

R

2

0

3

R

1

8

5

3
3
9

2
8
1

3
3
0

1
3

6

6



BU ( 1 : 3 )BV ( 1 : 3 )

BW ( 1 : 3 ) DV ( 1 : 4 )

BU
BV

BW

DV

DATE

63 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

11.4

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Cantielever

Cantilever.ipt

ASTM A36

1/8

OHO e.V.

Note: All units in mm.

900

194

50 50 50 50

6

65

R

1

2

6

429

574

4x 15

3
5
0

6

6

6



DATE

64 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

11.5

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Canteliever base

Cantilever base.ipt

ASTM A36

1/4

OHO e.V.

Note: All units in mm.

3
5
0

9

5

200 245

3
0
9

50 50 50

2
5

6



CA ( 1 : 3 )CB ( 1 : 3 )

CA
CB

DATE

65 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Spiral casing Spiral casing.iam

 

1/18

OHO e.V.

Note: All units in mm.

1564

1
3
8
6



DATE

66 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Spiral casing Spiral casing.ipn

 

1/10

OHO e.V.

 

12.1

12.2

12.3

12.4 12.5

12.6

12.7

12.8

12.9

12.10

12.11

12.12
12.13

12.14

12.15

12.22

12.21

12.20

12.19
12.18

12.17 12.16



DATE

67 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 1-1 Segment 1-1.ipt

ASTM A569

1/8

OHO e.V.

Note: All units in mm.

1873

4
6
0

6
0
0

R

1

2

9

9
7

1676



DATE

68 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 1-2 Segment 1-2.ipt

ASTM A569

1/6

OHO e.V.

Note: All units in mm.

8
2

1
0
0

1
0
0

1
0
0

1
0
1

1
0
1

1
0
2

1
0
3

1
0
3

1
0
4

1
0
4

1
0
3

1
0
3

1
0
2

1
0
1

9
9

9
7

9
5

820

1644

2
3
3

2
3
2

2
2
8

2
2
3

2
1
6

2
0
7

1
9
6

1
8
4

1
7
2

1
5
8

1
4
5

1
3
2

1
1
9

1
0
8

9
8

9
0

8
4

50 50 50 50 50 50 50 50 50 50 50 50 50 50 50 50



DATE

69 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.3

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 2-3 Segment 2-3.ipt

ASTM A569

1/6

OHO e.V.

Note: All units in mm.

1609

793

1
0
0

1
0
0

1
0
1

1
0
2

1
0
4

1
0
5

1
0
7

1
0
9

1
1
2

1
1
1

1
1
3

1
1
3

1
1
3

1
1
1

1
0
9

1
0
5

2
2
7

2
2
6

2
2
2

2
1
7

2
0
9

2
0
0

1
8
9

1
7
7

1
6
5

1
5
1

1
3
8

1
2
5

1
1
3

1
0
2

9
3

8
5

7

9

50 50 50 50
50 50 50 50 50 50 50 50 50 50 50



DATE

70 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.4

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segmento  3-4 Segment  3-4.ipt

ASTM A569

1/6

OHO e.V.

Note: All units in mm.

1556

767

1
0
0

1
0
0

1
0
1

1
0
2

1
0
4

1
0
5

1
0
7

1
0
9

1
1
0

1
1
2

1
1
2

1
1
2

1
1
1

1
0
9

1
0
6

1
0
1

7

9

2
2
2

2
2
1

2
1
8

2
1
2

2
0
4

1
9
5

1
8
4

1
7
2

1
5
9

1
4
6

1
3
2

1
2
0

1
0
8

9
8

8
9

8
2

50 50 50 50 50 50 50 50 50 50 50 50 50 50

50



DATE

71 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.5

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 4-5 Segment 4-5.ipt

ASTM A569

1/6

OHO e.V.

Note: All units in mm.

1503

739

7

9

1
0
0

1
0
0

1
0
1

1
0
2

1
0
3

1
0
5

1
0
7

1
0
8

1
0
9

1
1
0

1
1
0

1
0
9

1
0
7

1
0
5

1
0
1

2
1
8

2
1
6

2
1
3

2
0
7

1
9
9

1
9
0

1
7
8

1
6
6

1
5
3

1
4
0

1
2
7

1
1
4

1
0
3

9
3

8
5

50 50 50 50 50 50 50 50 50 50 50 50 50 50



DATE

72 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.6

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 5-6 Segment 5-6.ipt

ASTM A569

1/5.5

OHO e.V.

Note: All units in mm.

1449

712

1
0
0

1
0
0

1
0
1

1
0
2

1
0
3

1
0
5

1
0
6

1
0
8

1
0
8

1
0
9

1
0
8

1
0
7

1
0
5

1
0
1

9
7

2
1
3

2
1
2

2
0
8

2
0
2

1
9
4

1
8
4

1
7
3

1
6
0

1
4
7

1
3
4

1
2
1

1
0
9

9
8

8
9

8
2

50 50 50 50 50 50 50 50 50 50 50 50 50 50



DATE

73 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.7

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 6-7 Segment 6-7.ipt

ASTM A569

1/5.5

OHO e.V.

Note: All units in mm.

1394

684

1
0
0

7

9

1
0
0

1
0
1

1
0
2

1
0
3

1
0
4

1
0
6

1
0
6

1
0
7

1
0
7

1
0
6

1
0
4

1
0
1

9
6

2
0
8

2
0
7

2
0
3

1
9
7

1
8
9

1
7
9

1
6
7

1
5
4

1
4
1

1
2
8

1
1
5

1
0
4

9
3

8
5

50 50 50 50 50 50 50 50 50 50 50 50 50



DATE

74 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.8

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 7-8 Segment 7-8.ipt

ASTM A569

1/5

OHO e.V.

Note: All units in mm.

1338

1
0
0

1
0
0

1
0
1

1
0
2

1
0
3

1
0
4

1
0
5

1
0
6

1
0
6

1
0
5

1
0
3

1
0
1

9
7

9
1

656

2
0
3

2
0
2

1
9
8

1
9
2

1
8
3

1
7
3

1
6
1

1
4
8

1
3
5

1
2
2

1
0
9

9
8

8
9

8
2

7

9

50 50
50 50 50 50 50 50 50 50 50 50 50



DATE

75 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.9

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 8-9 Segment 8-9.ipt

ASTM A569

1/5

OHO e.V.

Note: All units in mm.

1281

627

1
0
0

1
0
0

1
0
1

1
0
2

1
0
3

1
0
4

1
0
4

1
0
5

1
0
4

1
0
3

1
0
1

9
7

9
2

1
9
9

1
9
7

1
9
3

1
8
7

1
7
8

1
6
7

1
5
5

1
4
2

1
2
9

1
1
6

1
0
4

9
3

8
5

7

9

50 50 50 50 50 50 50 50 50 50 50 50



DATE

76 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.10

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 9-10 Segment 9-10.ipt

ASTM A569

1/6

OHO e.V.

Note: All units in mm.

1
0
0

1
0
0

1
0
1

1
0
1

1
0
2

1
0
3

1
0
3

1
0
3

1
0
2

1
0
0

9
6

9
2

1
1
3

1
9
4

1
9
2

1
8
8

1
8
1

1
7
2

1
6
1

1
4
9

1
3
5

1
2
2

1
0
9

9
8

8
8

5
4

597

7

9

50 50 50 50 50 50 50 50 50 50 50



DATE

77 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.11

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 10-11 Segment 10-11.ipt

ASTM A569

1/4.5

OHO e.V.

Note: All units in mm.

1163

550

1
0
0

1
0
0

1
0
0

1
0
1

1
0
1

1
0
2

1
0
1

1
0
1

9
9

9
6

9
1

8
6

1
8
8

1
8
7

1
8
3

1
7
6

1
6
6

1
5
5

1
4
2

1
2
9

1
1
6

1
0
3

9
3

8
4

7

9

50 50 50 50 50 50 50 50 50 50 50



DATE

78 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.12

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 11-12 Segment 11-12.ipt

ASTM A569

1/4

OHO e.V.

Note: All units in mm.

1
0
0

1
0
0

1
0
0

1
0
1

1
0
1

1
0
1

1
0
0

9
9

9
6

9
2

8
7

1
8
3

1
8
2

1
7
7

1
7
0

1
6
0

1
4
8

1
3
6

1
2
2

1
0
9

9
7

8
7

1102

7

9

535

50 50 50
50 50 50 50 50 50 50



DATE

79 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.13

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 12-13 Segment 12-13.ipt

ASTM A569

1/4

OHO e.V.

Note: All units in mm.

1
0
0

1
0
0

1
0
0

1
0
0

1
0
0

9
9

9
8

9
6

9
2

8
7

8
0

1
7
8

1
7
6

1
7
1

1
6
4

1
5
4

1
4
2

1
2
9

1
1
5

1
0
3

9
1

8
3

1039

7

9

503

50 50 50 50 50 50 50 50 50 50



DATE

80 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.14

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 13-14 Segment 13-14.ipt

ASTM A569

1/4

OHO e.V.

Note: All units in mm.

470

975

1
0
0

1
0
0

1
0
0

1
0
0

9
9

9
8

9
5

9
2

8
7

8
0

1
7
2

1
7
0

1
6
6

1
5
8

1
4
7

1
3
5

1
2
2

1
0
8

9
6

8
6

7

9

50 50 50 50 50 50 50 50 50



DATE

81 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.15

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 14-15 Segment 14-15.ipt

ASTM A569

1/3.5

OHO e.V.

Note: All units in mm.

894

425

1
0
0

9
9

9
8

9
5

9
1

8
6

7
9

7
1

6
2

1
6
7

1
6
5

1
6
0

1
5
2

1
4
1

1
2
8

1
1
4

1
0
1

8
9

7

9

50 50 50 50 50 50 50 50



DATE

82 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.16

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 15-16 Segment 15-16.ipt

ASTM A569

1/3

OHO e.V.

Note: All units in mm.

821

391

1
0
0

1
0
0

9
8

9
7

9
4

9
0

8
4

7
7

1
5
8

1
5
6

1
5
0

1
4
2

1
3
0

1
1
7

1
0
4

9
1

1
0
5

4
6

7

9

50 50 50 50 50 50 50 50



DATE

83 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.17

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 16-17 Segment 16-17.ipt

ASTM A569

1/2.8

OHO e.V.

Note: All units in mm.

354

750

1
0
0

9
9

9
8

9
5

9
1

8
5

7
8

6
9

1
5
1

1
4
9

1
4
3

1
3
4

1
2
2

1
0
9

9
6

8
5

7

9

50 50 50 50 50 50 50



DATE

84 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.18

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 17-18 Segment 17-18.ipt

ASTM A569

1/2.5

OHO e.V.

Note: All units in mm.

315

677

1
0
0

9
9

9
7

9
3

8
8

8
1

7
1

1
4
3

1
4
1

1
3
5

1
2
6

1
1
4

1
0
0

8
8

7

9

50 50 50 50 50 50



DATE

85 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.19

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 18-19 Segment 18-19.ipt

ASTM A569

1/2.5

OHO e.V.

Note: All units in mm.

1
0
0

599

274

9
9

9
6

9
1

8
3

7
2

1
3
5

1
3
3

1
2
7

1
1
8

1
0
5

9
2

7

9

50 50 50 50 50



DATE

86 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.20

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 19-20 Segment 19-20.ipt

ASTM A569

1/2

OHO e.V.

Note: All units in mm.

1
0
0

9
8

9
3

8
5

7
1

1
2
2

1
2
8

1
2
6

1
2
0

1
1
0

9
7

1
6

512

223

7

9

50
50

50 50 50



DATE

87 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.21

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 20-21 Segment 20-21.ipt

ASTM A569

1/2

OHO e.V.

Note: All units in mm.

1
0
0

9
8

9
3

8
4

1
1
7

1
1
7

1
1
5

1
0
8

9
8

3
7

426

181

7

9

50 50 50 50



DATE

88 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.22

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 21-22 Segment 21-22.ipt

ASTM A569

1/2

OHO e.V.

Note: All units in mm.

342

1
0
0

9
8

9
1

1
2
0

1
0
9

1
0
7

1
0
0

4
5

127

8

0

50 50 50



DATE

89 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

12.23

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment 22-23 Segment 22-23.ipt

ASTM A569

1/2

OHO e.V.

Note: All units in mm.

1
0
0

9
9

9
7

9
6

9
3

8
6

251

110

8

1

50 50



DY ( 1/8 )

DY

DATE

90 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Diffuser tube Diffuser tube.iam

 

1/23

OHO e.V.

Note: All units in mm.

2352

1
0
9
1

1
3
6
8

3
5
2



DATE

91 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.0

Assembly

1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Diffuser tube

Diffuser tube.ipn

 

1/17

OHO e.V.

 

13.9

13.10

13.3

13.5

13.7

13.8

13.6

13.4

13.2

13.1



DATE

92 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.1

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment diffuser 0-0 Segment diffuser 0-0.ipt

ASTM A569

1/6

OHO e.V.

Note: All units in mm.

6

596

540

392

12x 18



DATE

93 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.2

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment diffuser 0-1 Segment diffuser 0-1.ipt

ASTM A569

1/10

OHO e.V.

Note: All units in mm.

915

1
0
0

1
0
2

1
0
9

1
2
1

1
3
8

1
5
9

1
8
6

2
1
8

2
5
6

2
9
9

7

0

9

7
0
9

7
1
0

7
1
3

7
1
9

7
2
8

7
4
0

7
5
5

5
4
0

2
9
3

1221

100 100 100 100 100 100 100 100 100



DATE

94 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.3

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment diffuser 1-2 Segment diffuser 1-2.ipt

ASTM A569

1/8

OHO e.V.

Note: All units in mm.

1863

5

5

1
0
0

1
0
3

1
1
3

1
3
0

1
5
5

1
8
9

2
3
1

2
8
2

3
3
6

3
9
0

1
9
2

1
8
9

1
8
0

1
6
6

1
4
8

1
2
7

1
0
5

8
5

7
0

6
3

944

100 100 100 100 100 100 100 100 100



DATE

95 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.4

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment diffuser 2-3 Segment diffuser 2-3.ipt

ASTM A569

1/8

OHO e.V.

Note: All units in mm.

1989

1013

1
0
0

1
0
1

1
0
4

1
0
9

1
1
9

1
3
6

1
6
2

1
9
6

2
3
6

2
7
6

1
9
6

1
9
3

1
8
4

1
7
1

1
5
3

1
3
4

1
1
3

9
3

7
6

6
5

5

8

100
100 100 100 100 100 100 100 100



DATE

96 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.5

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment diffuser 3-4 Segment diffuser 3-4.ipt

ASTM A569

1/8

OHO e.V.

Note: All units in mm.

2064

5

8

1
0
0

9
9

9
8

9
7

9
7

1
0
2

1
1
8

1
4
7

1
8
3

2
2
1

2
5
6

1
8
8

1
8
5

1
7
7

1
6
5

1
4
9

1
3
2

1
1
3

9
3

7
7

6
6

6
1

1049

100 100 100 100 100 100 100 100 100 100



DATE

97 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.6

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment diffuser 4-5 Segment diffuser 4-5.ipt

ASTM A569

1/8

OHO e.V.

Note: All units in mm.

1
0
0

9
9

9
5

8
8

7
9

7
3

8
3

1
1
5

1
5
9

2
0
3

2
4
3

1
8
0

1
7
7

1
7
0

1
5
7

1
4
2

1
2
6

1
1
0

8
9

7
2

6
3

5
8

1067

5

4

2098

100 100 100 100 100 100 100 100 100 100



DATE

98 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.7

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment diffuser 5-6 Segment diffuser 5-6.ipt

ASTM A569

1/8

OHO e.V.

Note: All units in mm.

1
0
0

9
9

9
6

9
1

8
3

7
6

8
4

1
2
0

1
6
3

2
0
3

2
3
9

1
7
6

1
7
4

1
6
8

1
5
9

1
4
6

1
3
1

1
1
7

9
7

8
3

7
6

7
3

6

9

1097

2155

100 100 100 100 100 100 100 100 100 100



DATE

99 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.8

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment diffuser 6-7 Segment diffuser 6-7.ipt

ASTM A569

1/9

OHO e.V.

Note: All units in mm.

2209

1
8
8

1
0
0

1
0
0

1
8
6

2
9
1

8
6

2
5
4

8
7

9
8

1
8
2

9
6

1
7
5

9
3

1
6
4

8
9

1
4
9

9
5

1
3
2

1
3
1

1
1
2

1
7
3

9
9

2
1
5

9
1

1133

8

0

100 100 100 100 100 100 100 100 100 100 100



DATE

100 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.9

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment diffuser 7-8 Segment diffuser 7-8.ipt

ASTM A569

1/9

OHO e.V.

Note: All units in mm.

1170

1
0
0

1
0
0

1
0
0

1
0
1

1
0
2

1
0
4

1
1
4

1
4
6

1
8
3

2
2
0

2
5
5

2
8
9

1
4
5

1
4
6

1
4
3

1
3
9

1
3
3

1
2
4

1
1
0

9
6

8
6

8
0

7
7

7
5

7

2

100 100 100 100 100 100 100 100 100 100 100



DATE

101 /101 

1.2

DEVELOPED BY REDESIGNED BY

A. MorilloJ. Rosciano

Practical Action, Per

13.10

Part 1

10/08/2021

Axial flow turbine 25kW

PROJECT CREATED BY APPROVED BY

LICENCE

PART NAME POS

DOC. TYPE

VERSION

FILE NAME

MATERIAL

SHEETSCALE

QUANTITY

CC-BY-SA 4.0

Segment diffuser 8-9 Segment diffuser 8-9.ipt

ASTM A569

1/15

OHO e.V.

Note: All units in mm.

1
0
0

1
4
9
6

1
0
0

1
0
0

1
0
0

1
0
0

1
4
2

1
2
3

1
0
7

9
8

1
0
0

1
0
0

9
7

9
5

9
3

9
4

1

5

3

3

1
4
9
6

1
4
9
6

1
4
9
6

1
4
9
6

1
4
9
7

1
4
9
6

1
4
9
7

1
5
1
1

1
5
2
5

1
5
3
9

1
5
5
2

1
5
5
4

1
0
0
4

4
5
2

2399

1482

100 100 100 100 100 100

100 100 100 100 100 100


